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. #include <iostream>

. using namespace std;

-/ /R TH U Rl 2

. #define N 7

. int main ()

-

. double m[N] = { 50, 20, 10, 5, 1, 0.5, 0.1 }; / /78 ST 2 R 1) T A5

~N o U o w N
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8. int result[N] = {0, 0, 0, 0, 0, 0, 0 }; //RAFEFFIEERADBAGEE B, 1T 20 1% 2 85
9.
10. double n; / /5 AR AT n oG, e — /N

11. cin >> n;

12. //MAEEH, % SEFR A (n / 100 + 1) % 100 J6, 2 W %2 B H0K 100 76
13. int num = (int(n / 100) + 1) * 100;

14. double change = num - n; A ASER

15.

16. //SULEIETT IR

17. for (int i = 0; i < N; i++)

18. {

19. result[i] = change / m[i]; / /MR TE BT b, 570 58 2k B £ 1) B
20. change = change - result[i] * m[i]; /7T BT 4 R R B R

21.}

22.

23. //3TERLE
24. for (int i = 0; i < N; i++)
25 1

26. cout << result[i] << " ";
27. }

28. cout << endl;

29. }
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1. #define CRT SECURE NO WARNINGS

2. #include <stdio.h>

3. #include <stdlib.h>

4. #include <string.h>

5.

6. struct Note / /G Bl

7. {

8. int begin; / /I 46 B[]
9. int end; / /45 I [E]
10. };

11.

12. void quicksort (int left, int right, struct Note gl ]); //HREHHEF B
13. int activity selector(int t, struct Note g ]); / /AT D2 Y I sh B
14.

15. int main() /1 FE R EL

16. {

17. int result, i;



18.
19,
20.
21.
22
23.
24.
25,
26.

27

42.
43.
44,

45

46.
47.
48.
49.
50.
51.
52.
53
54.
55,
56.
57.
58.
59,
60.
61.

int t;

printf (" ATEZIEE  \n") ;

scanf ("%d", &t);

struct Note g[100];

printf ("Hii ARG Bl IR B A FI S5 SR A \n ") ;
for (i =1; 1 <= t; i++)

{

scanf ("%d%d", &q[i].begin, &q[i].end);

}

. quicksort (1, t, q); / /HEF
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.

result = activity selector(t, q); /5B K
printf ("$d\n", result);
return 0;

}

/ /PR T R

void quicksort(int left, int right, struct Note q[])
{

int temp = gl left].end;

int templ = q[left] .begin;

int i, j, t, £;

i= left;
J = right;
if(right < left)
{
return;
}

. while (i != j)

{

while (i < j && g[j].end >= temp)
{

J-=7

}

while (i < j && gli].end <= temp)
{

dardep

}

if(i < J)

{

t = q[i].end;

q[i].end = q[j:l.end;

q[j].end = t;

f = q[i].begin;

glil.begin = g[3].begin;
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62. gl j].begin = £;

63. }

64. }

65. gl left].end = g[i].end;

66. q[i].end = temp;

67. glleft].begin = g[i].begin;
68. gqli].begin = templ;

69. quicksort(left, 1 - 1, q);
70. quicksort(i + 1, right, q);
71.}

72.

73. / /3BT LA HE R B A

74. int activity selector(int t, struct Note q[])
75. {

76. int count = 1, i = 1;

77. int j;

78. for (j = 2; j<=t; j++)

79: 1

80. if(glj].begin > g[i].end)
81l. {

82. i=3; //EH R IE — A EEH R )
83. count++;

84. }

85. }

86. return count;

87. }
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13.
14.
15,
16.

17

18.
19,
20.
21.
22.
23.

24

25.
26.

27
28

29.
30.
31.
32.
33.
34.
35.
. printf ("EW A A \n") ;
37.
38.
39.
40.
41,
42,
. printf ("EWASEYHPER \n") ;
44 .
45,

36

43

F6E AL

. #define CRT SECURE NO WARNINGS

. #include <stdio.h>
. #include <stdlib.h>

. #include <string.h>

. #define MAXSTZE 100 /1) it de R
. #define M 90 /78 B
. void getData(float djz[], float dzw[], int* n); VL TN
void sort (float tempArray[], int sortResult[], int n); / /HEF Bk
void greedy(float dzw[ ], float x[ ], int sortResult[], int n); / /oA
void output (float x[], int n); / /5
int main() VEN L
{
. float djz[MAXSIZE], dzw[MAXSIZE], x[MAXSIZE]; //#®&hM{E 5 & F0EE4r kb
int i =0, n= 0;
int sortResult[MAXSIZE]; / /5 HE e J5 i HE P 45 2R
getData(djz, dzw, &n); / /A
for (i =0; 1 < n; i++)
{
. x[i] = djz[i] / dzw[il;
}
sort (x, sortResult, n); / /HE P Ak
. greedy(dzw, x, sortResult, n); [/ LB
. output(x, n); / /i

return 0;

}

4 WNIE 23O K-/ KRN S D9 &7 N R Q)
void getData (float djz[], float dzw[], int * n)
{

int 1 = 0;

scanf ("S$d", n);

printf ("THH ALY B NME \n") ;
for (1 =0; 1 < (*n); i++)

{

scanf ("$f", &djz[i]);

}

for (i1 =0; 1< (*n); i++)
{



